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struct lecture { struct lecture lecture1;
char name[20];
int credit; lecture1.hour = 2;

int hour:

}
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struct lecture {

char name[20]; TN delef i M
= 2H5t= Y H

int credit;

int hour; i
} lecture = { “Z&€F", 1000, 2 }; <
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(structbasic.c)

#define CRT SECURE_NO_WARNINGS
#include <stdio.h>

#include <string.h> [ 23 Hxl2 o8t AxH| O
struct account { /

char name[12]; //AIZS Ol & [Z1H

int actnum; J/HERH = TN 7]: 24

double balance; //Zk = Z'5 1001 300000.00
¥ O]=& 1002 500000.00

Int main(void) {
struct account mine = { "&Z&-3", 1001, 300000 };
struct account yours;

n Ol my.

strcpy(yours.na_me, O.l%-.zJ ); EES O e
yours.actnum = 1002; 70| Steict AALF 2tS £ oj2
yours.balance = 500000;

printf(" 2 X[ 27| %dWn", sizeof(mine));

printf("%s %d %.2fWn", mine.name, mine.actnum, mine.balance);

printf("%s %d %.2fWn", yours.name, yours.actnum, yours.balance);
return O;
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(nestedstruct.c)
#include <stdio.h>
#include <string.h>
struct date { <« IWE 93t FEM | | [ZDH
int year,  //d IEH 7| 40
int month: //'Cé'I [2018, 3, 9]
int day;  //& = 21= 1001 300000.00

};
struct account &—— 28AXE ?let T4
struct date open;  //AIZl /hE E At

=
char name[12]; //AZET Ol &
int actnum; //AZHH =
: x
}. double balance;  //TFA ItH S ERP e J
/ A=
int main(void) { 528 M8

struct account me = { { 2018, 3, 9}, "€ 4", 1001, 300000 };
printf(" T =X 27| %dwn", sizegf(me));

printf("[%d, %d, %d¥n", me.open.year, me.open.month, me.open.day);

printf("%s %d %.2fWn", me.name, me.actnum, me.balance);

}
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(structstudent.c)
#define CRT SECURE_NO_WARNINGS
#include <stdio.h>
#include <string.h>
: - - dept : CtE =4At€ A5 7HE
nt mainvoid) () S o S Se g J
struct student
int snum; Sk
char *dept: §;$I-J_I-|_ o= | name : HIEE|7} 12 byte®™ 1 Reo=
char name’[12]' :’é'i ojz (EMES BH 2AH SAL + UG,
b
struct student hong = { 201800001, "AFHEESstut, "s4 " );

struct student na = { 201800002 };
struct student bae = { 201800003 };

[2 1]
ot 10| &+ jychoi

[201800001, ARHAEE S 24 5]
[201800002, HHEE ™ 235t} jychoi]

[201800003, 7| Al stt, Hf &=
SHHO| 2018000032 S USHL|C}
LHL 0| Zte XK ol Ck
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(structstudent.c)
printf("i“” |£:"); scanf("%s", na.name);
na.dept = E1 I*E-'—O*_'f

bae.dept = 7|74|-'—°*_'f

memcpy(bae.name, HH%*—E— 7);

strcpy(bae.name, "Hi A& &E");

strcpy_s(bae.name, 7, "HIAE");

printf("[%d, %s, %s]Wn", hong.snum, hong.dept, hong.name);
printf("[%d, %s, %s]Wn", na.snum, na.dept, na.name);
printf("[%d, %s, %s]Wn", bae.snum, bae.dept, bae.name);

struct student/one;/[—‘rlxﬂl Hp=2F O 7FS! memcpy() =22 }

one = bae; HH = FAU0] AZS M= AR XHA.

if (one.snum == bae.snum) TEN #H4Zt SSHRE7H }
printf("SHHO| %d 2 S UASHL|Chwn (BH 7|2l SHUHA H] W6 OF 2,

//if (one == bae) //LF

if (one.snum == bae.snum && !strcmp(one.name, bae.name)
&& Istrcmp(one.dept, bae.dept))
printf("L{& 0| &2 X ¥ LICEwn");

return O;
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(umon.c) [Z1 H
#include <stdio.h> 8 37 0.000000
union data N @ '
char Ch.;[ FL2 FENE FoIstHA B4 | d 100 0.000000
int Cﬂt" HAH data1E JOJ?J = J N -590162866 3.156759
double real;
} datal;
int main(void) { X T Ol chard O 20t X 7|3} T
union data data2 = { 'A’ };/[A 2Hel c aroj I_._ 2t 7t ]
union data data3 = data2;.—| M€ @2 x£7|= Jts ]
printf("%d %dWn", sizeof(union data), sizeof(data3));
datal.ch = 'a’;

printf("%c %d %fWn", datal.ch, datal.cnt, datal.real);
datal.cnt = 100;

printf("%c %d %fWn", datal.ch, datal.cnt, datal.real);
datal.real = 3.156759;

printf("%c %d %fWn", datal.ch, datal.cnt, datal.real);
return O;
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(typedef A=)

¢ typedef 712

o|0] AlZEl= AIE [RES CIE ME22 AI=Ed 0|S22 &2 &
typedef int profit;
profit2 inte} Z2 AIRSCE MEA Holsi= 22

¢ A2E 2 SEY ®X0 AL

er\t 8i0| E{E2 C++0j|]A{= 2H}O|E, Visual C++0jA{= 4H}O|E A}

o

Visual C++0jM el I myintZ A2 = 2= int S
myintgo2 AlE

0] &AAE E{E C++0|M Hut & = Visual C++2| int81}l &
2gi|= AlrdoE MO,

[Visual C++] [Turbo C++]
typedef int myint; typedef long myint;

myint salary = 2000000; myint salary = 2000000;
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(typedef.c)
#include <stdio.h>
typedef unsigned int budget; MZe X223 budget |
Int main(void) { 7\% OrE T AR )
budget year = 24500000; CPSTTTTSTEra.
typedef int profit; < %T3 TR T
orofit month = 4600000; MES HAHH AS

printf("= O| &2 %d, O|FH2| 0|22 %d YLICWn", year, month);
return O,

}

void test(void) { O| &X|0{|A, N
budget year = 24500000; budget &= A& 7HSobX| 2t
//profit year; prof|t°4— X 2 27}

}

[ 41
= 0| A= 24500000, O|= 2| 0|2 4600000 R L|LCF.
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(typedefstrlmdif)

Z4 7]

#include <stdio.h> [& 1]

struct date { iﬂ%%‘: HlF=ELFHL 7L E
int year; int month; int day; 2| Af 1 MS

. AF" = =017t
? struct date &= ZIEHS| 18 8. 29
typedef struct date date; | date Ho 2 XA O

int main(void) {
typedef struct {
char title[30]; /M= [?LMI% HO|stHA| HEZ X} }

char company[30];//M % 5| AF | &3 software £ F2|5t7] 2
date release; /=AY o T
} software;
software vs = { "H|FYAEL|Q" "MS", {2018, 8, 29 } };
printf("M = &H: %s#n", vs.title);
printf("2| A} 1 %sWn", vs.company);
printf("ZS Al €: %d. %d. %d¥n",

vs.release.year, vs.release.month, vs.release.day);
return O;
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(structpointer.c)

#include <stdio.h>

struct lecture {
char name[20]; [/ EEE
int type;//8Zt& 0: 1, 1
int credit; [/t
int hours; NES

b

typedef struct lecture lecture;

Char *head[] — { ||7C>|-£|.%:|nl "%)I-—{l-;l'_i_", ||§|.II:-I|||’ nAl_JI\_n },
Char *lectype[] — { uﬂ%l:n’ u%HI_I.AI_ E_|-I|||’ nxl_-l_g_Jé_Jlk_u, "d_CT)I_tE—I]l" }’

[Z 1]
M0 32, ZIHAI|: 8

23Y AR B AL
SYHM MBS 3 3
cE2lay MzBHE 3 4
c Mz 3 4
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(structpointer.c)

int main(void) {
lecture os = { "2BAA", 2, 3,3 };
lecture c = {"CEZZ2jU" 3,3, 4}
lecture *p = &os;
printf{(" =X 7|: %d, ZZRIE A 7|: %d¥nWn", sizeof(os), sizeof(p));
printf("%10s %12s %6s %6s#n", head[0], head[1], head[2], head[3]);
printf("%12s %10s %5d %5dwn",
p->name, lectype[p->type], p->credit, p->hours);
p = &¢ -> GIAMRHE }
printf("%12s %10s %5d %5d¥#n", (* ). HLERreE 25!
(*p).name, lectype[(*p).typel, (*p).credit, (*p).hours);
printf("%12c %10s %5d %5d¥Wn",
*c.name, lectype[c.type], c.credit, c.hours);

return O, [24D}]
} PRI 82, ZOIEIII: 8 -
ARY PR HE AL
(e Neo-EKJ1IBull Td ) T AL N N
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(unionpointer

MA T ALS

.C)

#include <stdio.h>
Int main(void) {
union data {
char ch;
Int cnt;
double real;
b
typedef union data udata;
udata value, *p;

[&
a a
100 3.14

ny

p = &value; St
=

rlo

p->ch = 'a’;

printf("%c %c#n", p->ch, (*
p->cnt = 100;

printf("%d ", p->cnt);
p->real = 3.14;

printf("%.2f Wn", p->real);
return O;

p).ch);
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(structarray.c)
#include <stdio.h>
struct lecture {
char name[20]; /B EHE
int type; [/ EZET =
int credit; /et
int hours; // A=

3

typedef struct lecture lecture;

char *lectypel[] = { "I'n_%*", "EErA e s, THESAE ),
char *head[] = { "&ZtE", "= E", """, "AlF");
[2 D]
BHE3DI: 5
LY AH7AE HE A
CI2bt At ) 2F 2 2
ZHEIHE L 3 3
Azx d3ES 3 3
OHIOITI2 o0l NDIA a9
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(structarray.c)

int main(void) {
lecture course[] = { { "7t} AtZ|", 0, 2, 2},

("HHSIHE" 1, 3,3}, TEA HIGO| x7|3t LS E FHI0 AR
("RI2FZE", 2, 3,3}, oE ETS I X735}
("RHYZ2 Y 2 3, 4| R BT BAYAA0 TEK £I|8E

{("ng cZEaeid", 3,3, 41 );
int arysize = sizeof(course) / sizeof(course[0]);

printf("Hl @ 37|: %dWn¥#n", arysize);
printf("%12s  %12s %6s %6sWn", head[0], head[1], head[2], head[3]);
printf('=========================================Wn");
for (int1 =0; 1 < arysize; i++)

printf("%16s %10s %5d %5dWn", course[il.name,

lectype[courseli].type], courseli].credit, courseli].hours);
return 0; [[] LARIEM Y 201 TEHE RS & ]

MK EMN TN RO H2.




